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"_1'5'1. Six participants in a bike race had the following finishing times in
minutes:
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For this sample of finishing times, compute the following statistics:

l (a) the mean;
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10 2. n an experiment to study the relationship between the dose of a
stimulant and the time a stimulated subject takes to respond to an
auditory signal, the felleowing data were recorded:

Dose (x) 1 3 4 8 9
(milligrams)

Reaction time (y)
(seconds) 1 2 2 3 4
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-~ (b) Find the equation of the best-fitting line, with x as the (:(z

independent variable and y as the dependent variable.
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. Three of the

A jar contains four green marbles and three red marbles
seven marbles are selected at random, without replacement.

(a) Find the probability that exactly two of the selected marbles are
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(b) Find the probability that exactly two of the selected marbles are
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Find the probability that the number of green marbles selected
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is at least one.
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(d) Find the conditional probability that exactly two of the selected
marbles are green, given that the number of green marbles

selected is at least one.
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'1(} 4. Consider the following game:

Two fair dice are rolled. If the sum of the two numbers that come up
is 4 or less, you win $1. If the sum is 9 or more, you win $3.
Otherwise (that is, if the sum is 5, 6, 7 or 8), you win $2.

Let W denote the amount that you win when you play this game.

ég?(a) Obtain the probability distribution of W.
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(b) Find the expected value and variance of W.
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